S?:/ = f’—f_
Sp= l+bk = 15

S(owlj (wireases

Note Hhat (S".> (s Mﬂ‘a’(ﬁ 6\0'21{’5)
(This will aways heppen whin 1o Serces

[\&g mheaq,ﬁ.t +erms S pee. ?{ Z Q,‘Co
HRosres, S = Sp + akﬂ?'s't >
B e .
T Tl hawmonic Sevies dvoses,
- (:F‘: (,_);__ Lot S!‘-: é% cd tnhourdad.
Obsene Shast for ke N

S, = l + L i
27 S ) e b))




sk. k>2M4-2,
Butdton Loz 2M = EE25m

Tlowfy 1o pontid uom 5ogprancs (S,)
s onbourdd. Tocoe, Ko harmané
Seyneg dtufu}a.o,/ 2

Thire %5 > k220

p—
r




D\‘;aM Laumma

Lemma: TH ﬁQg Convenpsy, U
/&.,'..‘ Qq =0.

-

S 1 sohife Imk=e, bt sl di,)

n

A_tjc:pg\‘fn. Cn\‘{h-pos;ﬁ?e. W wsed morp

o TE () & a sepuana
5% et Qim @, Hoes oot
%l‘)‘\'ar‘ /leqh__ax,gf, bt o
20, {lon My senis =2,

céuférﬁ

Exercise 2.4.1. (a) Prove that the sequence defined by x; = 3 and
B 1
il i -z,
CONVerges.,
.
a . — = o= A
Proeg ér 3 FFq ___l.—‘— =
2= X = =
U H-1%" o



Qoe 5 21 T I e Shor
’ 0 £%x,£3, s

-

[ak\"'h“j 4 u,{(_pmd»«i‘w:m 2
€x =343V
0O £x,=3 : . "
9’*05&53’2’1—5("\4-\: H—X,

\
0 €g=a® — il
S —
dQ,Cfo—o—j‘ . K= ( / )(".':3 So &éx‘ '
SP K =Kn
IR
. < "o
XM—Z — B —YXae L(;x,."e . ’
MCT . g

—
At Fry Fost, obseve tht O X =323,
Seapppse for snme uerS, o2y, c3.

L= 1 :
Tha 05§ % r < gy

Tho  Xupi= gkt shifiy 0% &, €3 apo,
Thuse, by bt 02 X422 fratlue ./




ﬁ@/o"wg%ﬁ]:xzsk‘a?.
Suppesi o7 Sama_ye N, zcms. K

T i )sw

XM-L = m—l q'-x "
Sm0e Pa*wt
Ragom,

95'1’ ) xwu Xn #”"'-uué/)\/
Eg MC.}) [Kn) ConverBes -

(b) Now that we know lim x,, exists, explain why lim 2,41 must also exist and

Take the limit of each side of the recursive equation in part (a) to explicitly
npute |

"'Nu\w ,Qrmm Ql-ov\)(m-l"’Q"m Ku
06 9‘4"* En 9—&156

1
X"H = L{"Kn

|
7 i X = Lm g
I
LZL"'?&;\xn

|



= 2+J2.
Dex,e> = byotT
Hat o 2 fenkoa=L=3

o P 2,.‘]'3‘<3< Z‘f'Jé

“‘éfzaf\fi.

Exercise 2.4.3. (a) Show that

V2, \,""‘..’ V2, \-’ FV240 2,...

converges and find the limit.

(b) Does the sequence

—

V2, \n" 2vV2, \ 2\/ 2y

/ converge? If so, find the limit.

o



Guess X <[000
X =z & oo./
Sugpsa Xy = (022 .

Ahon Kney = 2x, < Jot0 = @41000‘

mer—s,,/



@ Dbseorr XK,=2@m =2k = £y
QF thzkn &‘SM néN‘
x%=t}2&ny‘2|'2xh -’-72(-\4-:-
B%M/ x.,,,l?.x,\ ‘d’uéﬁ‘/-
Neat, b 3 =X, < [65
St- 22X, awoo .
Tlen V22 %, 2K, =lan < frum
= (200 <L 1000
—’Z‘*’ J24 X, & boo U'AGN'

87 MC-{: (?(v\) Convergls.

E’kw do WL ﬁc'ﬁQ. o Dot ¢
St Qn x e’&“"fs/'&x
L—PQ»‘:'\(CA': Q‘:‘q K‘nc-l 5]%4-
L.—:_\J 2 (- (’C‘TI ALT
(b 2 239
= [_L'::?,L- L‘yO/’T' |

= /% =0
L ((c-2)=0




= [ =2er (=O.

By T 28 = (52




